
 
njhilfs; III 

cjhuzk; I 

 50 FLk;gq;fisf; nfhz;l fpuhkj;jpy; 30 FLk;gq;fs; Mz; gps;isfs; Mtu;. 20 FLk;gq;fspy; 
ngz; gps;isfSk; 15 FLk;gq;fspy; gps;isfs; ,d;wpAk; cs;sdu;. 

1. gpd;tUk; tpguq;fis ntd;tupg;glj;jpy; fhl;Lf. 
2. Mz; gps;isfs; nfhz;l FLk;gk; vj;jid? 
3. Mz;> ngz; ,U gps;isfisAk; nfhz;l FLk;gq;fs; vj;jid? 
4. xU ghyhiu kl;Lk; nfhz;l FLk;gk; vj;jid? 
5. ngz; gps;isfs; kl;Lk; nfhz;l FLk;gk; vj;jid? 

tpilfs; 

1.  

 

 

 

 

     30 – x +x+20 – x +15 = 50 

         65 – 2x+x = 50 

         – x = 50 – 65 

            x = 15  
2. Mz; gps;isfs; cs;s FLk;gk; 

 15+15=30 

3. ,U gps;isfSk; cs;s FLk;gk; 

    15 

4. xU ghyhiu kl;Lk; nfhz;l FLk;gk; 

   15+5=20 

5. ngz; gps;is kl;Lk; cs;s FLk;gk; 
 5 

 24.2 ,y; cjhuzk; 1> 2 I mtjhdpf;f. 

 gapw;rp 24.2 nra;f. 
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15 

Mz; ngz; 30 – x 

15 
20 – x 
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=50 

 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  fzpjk; 

juk;: 11 
jahupg;G : jpUkjp M.U.F. Uik]h 

Nf/ce;Jnfhil jkpo; kfh tpj;jpahyak; 

thuk;  - 33  


